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MVA pathway MEP pathway

Acetyl coenzyme A Pyruvate + GA-3P
DXS
Bi<-1-Deoxy-D-xylulose 5-phosphate ...~ B

DXR
2-C-Methyl-D-erythritol 4-phosphate
MECT
4-Diphosphocytidyl-2-C-methyl-D-erythritol
Mevalonate CMEK

3-Hydroxy-3-methylglutaryl coenzyme A

HMGR

2-phospho-4-Diphosphocytidyl-2-C-methyl-D-erythritol
MECPS
2-C-Methyl-D-erythritol 2.4-cyclodiphosphate
HDS
1-hydroxy-2-Methyl-2-(E)-butenyl 4-diphosphate
HDR/DS
DMAPP~—1PP

Mevalonate pyrophosphate

DMAPP-— PP o

I
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~ MYC-binding  W-box
TGACTTTGTGTAAGGAATGAATGGACTATATTTTACAATTGATTTGAACATGACTTATCC
GTAATAGTCATCACCCATTATTCTTCTTTTAGACACAACAATTAGAGCACCCATAGAATA
WRKY MYC-binding
TCACTCCACTAGAGGATGTATGTATTTGCATGAAAATGICCTCTAT TAGACCACGAGATA
MYC-binding

AAATCAARATGTATCTATAATATACACACCCTCATTCATATTCAATACGCTAAATCTTGTT
TTATCTTTTTAATAGAAACTTTAATTAAGGCCCTTATTTACTAGCTTAATAA%A%%ATTG
u

TTTTCACTCATGT@TCTCCCATCAAAAATAATACACTAAGGGTTGCTTTCAC
CTACATCTTTGTCTAAATTACAATATGTATTTCCATCTAAAATTAATGAATAAAGAATAG
AGTAAGCTCACAAATTTTATTAAGTGCGTGTCAAAGTTTTAAAAACTTTTCTCAACCAAA
ATCAAXS:I({;EAAAATTGATATGAAATGCAAATAAATGTCATTCAACTTATCAA‘E;]\{(I;(T‘({;GA

AAGTGGTCCCATTTCTTATTTTTCCAATACAAACTTCTAATCTAGTGGT TATATGACTAA
AGCGCAAACAATAGGCTTAATAATTGCCACTCAAAGTGGCCGATGTAATTCATTGTGTTT

TGTCCATGAAGACAACCTTGGGCATATACGAGAATAAGATCCTTTTTTATTTTTAGARAA
DOF-binding SEF3-binding

TGBEAAGATTAAAAAACATTAACCCATTGGACBACCCAITGGCAAGAGCTGTGATGATGAAC

WRKY WRKY
TCCATTTCCTTGGAAATTTGACQT TGTTTCTTAACTTTGGTTAAGATGCTAATGCAAATGA]

MYB-binding
QT TATGTATTGGATAIGAGCAAGATACTCTTCTGTTTTGGACTTTAGCGGAATCGGACCTC
ARRI1-binding CAAT-box SRE
CTCCGTCTTCCCTACACTCATTCATCTGTTCATIGATTICCAATTATCTGTATTATCOTCC
CAAT-box

TCCTICAATICCATTATAAACATTCTTCTAACCTCTTCGTTGTTCCACATGGTCGCCTTCAT
TATA-box +1 Transcription Start

GCTATTGCACAATTCTTCTIATATTTCTCTGCTTGTAACTGTCCAAAGTCECATCATTTG
AGETGGCTTTGAGAATTGCATCACCGA

- 0%$13% '$ . 72 $ 9
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